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Honors Chemistry

Period 5
e Stoich Round Robin s'mores

o Concentration is defined as: ®
> A given amount of a solute in moles dissolved in a specific amount of
solvent
> There are two methods of dissolving a solute in solution
— Molarity (M)
« Moles of solute dissolved in a known amount of solution
» Measured amount of solvent is added to measured amount of
solute in moles

Period 5

* limiting reactants p492

* copy: stoich slides #91, 105

29, 40, 47,52, 68, 73, 83, 108,

stoich slides #29, 40, 47, 52, 68, 73, 83, 108,

* Tues: test on stoich, *% yield, and limiting/excess reagents


https://binged.it/2Hs8UoK
https://binged.it/2r8Ute8
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The last train to 

Stoichiometryville



*











		So we can balance equations

		BIG DEAL!!!

		What good is a balanced equation anyway?

		You can’t eat it, sell it or drive it!

		And we can change things about compounds like…

		Grams to moles and moles to grams.

		WHO CARES!!!
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		Well there is a whole lot of industry that depends on these two things

		Without them you wouldn’t have nearly half the stuff you have

		And they put the two together to make them useful

		“OH NO”….you say

		Ahhh, yes…tis true

		Now you will learn the process...

		or else!
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		Yes…that’s right

		We are going to combine balanced equations with mole problems

		“Oh joy!’’....You say

		Alas…it is true

		So lets begin
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		Lets start with a hypothetical situation

		You are a successful business person with a thriving multibillion dollar company you built from the ground up

		A customer places an order for one of the products you sell

		Oh…by the way…did I mention it was a company that sells chemicals

		Anyway, they order 10kg EsCl at a cost of  $10,000,000.00
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		Now lets look at what you as the producer of this compound needed to determine to be able to price and sell this at a profit of say $1,000,000.00

		Lets assume that the only way to obtain this product is to react Es2O with HCl.

		And lets assume that the mining company that supplies the Es2O to you charges $800,000.00 per kilogram.  That’s $8M



		The HCl costs $100.00 for all that you require for the reaction, so its not important.
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		But the reaction to produce the EsClwill cost $1M.

		So everything has to be perfect.

		Think about it.

		You need to supply 10kg.  NO LESS!!!!!!

		If you screw up and produce less than needed, you need to do the reaction again

		And what will that do to your profit? 

		ZERO

		And if you order too much from the mining company, what do you do with it.

		Its highly radioactive and will cost $2M to store 
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		So, being the genius that you are , you decide to make more than you need to.

		Problem

		This is the only customer who buys this stuff.

		They purchase it once a year for a special order

		Any left over will decay after sitting on the shelf for 2 weeks.

		And then what

		Money down the drain

		3% too much will eat all your profits
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		So what’s a business person gonna do to maximize profits

		That is make just the right amount

		And order just the right amount of material to produce it

		This is where a Balanced Equation and a Mole equation come in pretty handy
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		So lets see how to solve this dilemma with some figures that are easier to work with

		First we will look at an example of how this works

		And go over the steps to solve them

		Then practice
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		Solving mass-mass problems
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            





*











		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.

		9.90gCuCl   1mol CuCl     1mol Cu2S

		                    99.0g CuCl    2mol CuCl
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.

		9.90gCuCl   1mol CuCl     1mol Cu2S

		                    99.0g CuCl    2mol CuCl

		Step 4.  Express the moles of required substance in terms of grams, then convert moles to grams
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.

		9.90gCuCl   1mol CuCl     1mol Cu2S

		                    99.0g CuCl    2mol CuCl

		Step 4.  Express the moles of required substance in terms of grams, then convert moles to grams

		          2Cu    2 x 63.5 =  127.0g
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.

		9.90gCuCl   1mol CuCl     1mol Cu2S

		                    99.0g CuCl    2mol CuCl

		Step 4.  Express the moles of required substance in terms of grams, then convert moles to grams

		          2Cu    2 x 63.5 =  127.0g

		          1S      1 x 32.1 =    32.1g
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.

		9.90gCuCl   1mol CuCl     1mol Cu2S

		                    99.0g CuCl    2mol CuCl

		Step 4.  Express the moles of required substance in terms of grams, then convert moles to grams

		          2Cu    2 x 63.5 =  127.0g

		          1S      1 x 32.1 =    32.1g

		molar mass of Cu2S  =  159.1g
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		Solving mass-mass problems

		If 9.90g CuCl are reacted with H2S how much Cu2S will be produced from the reaction

		Step 1. Write the balanced equation.

		2CuCl  +  H2S  Cu2S  +  2HCl



		Step 2.  Find the number of moles of the given substance.

		            1Cu     1 x 63.5 = 63.5g

		            1Cl      1 x 35.5 = 35.5g

		    Molar mass of CuCl  = 99.0g



		   9.90gCuCl   1mol CuCl   

		                        99.0g CuCl

		Step 3.  Inspect the balanced equation to determine the ratio of moles of required substance to moles of given substance.

		9.90gCuCl   1mol CuCl     1mol Cu2S

		                    99.0g CuCl    2mol CuCl

		Step 4.  Express the moles of required substance in terms of grams, then convert moles to grams

		          2Cu    2 x 63.5 =  127.0g

		          1S      1 x 32.1 =    32.1g

		molar mass of Cu2S  =  159.1g



		9.90gCuCl   1mol CuCl     1mol Cu2S   159.1gCu2S  =    7.95g Cu2S

		                    99.0g CuCl    2mol CuCl   1 mol Cu2S
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NOTE

		Given a balanced equation and any one substance in the equation

		We can solve for any or all of the other substances

		Whether they are reactants or products

		What a useful tool!!!!!









		Lets do another example:









		Lets do another example:

		Cu + HNO3  Cu(NO3)2  + NO + H2O









		Lets do another example:

		Cu + HNO3  Cu(NO3)2  + NO + H2O

		If 11.3g NO is produced, how much Cu is required









		Lets do another example:

		Cu + HNO3  Cu(NO3)2  + NO + H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.

		11.3gNO  1mol NO

		                 30.0gNO









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.

		11.3gNO  1mol NO

		                 30.0gNO

		Step 3.  Determine ratio of wanted substance to given from the balanced equation









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.

		11.3gNO  1mol NO

		                 30.0gNO

		Step 3.  Determine ratio of wanted substance to given from the balanced equation

		11.3gNO  1mol NO   3mol Cu

		                 30.0gNO  2mol NO









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.

		11.3gNO  1mol NO

		                 30.0gNO

		Step 3.  Determine ratio of wanted substance to given from the balanced equation

		11.3gNO  1mol NO   3mol Cu

		                 30.0gNO  2mol NO

		Step 4.  Change needed substance to grams









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.

		11.3gNO  1mol NO

		                 30.0gNO

		Step 3.  Determine ratio of wanted substance to given from the balanced equation

		11.3gNO  1mol NO   3mol Cu

		                 30.0gNO  2mol NO

		Step 4.  Change needed substance to grams

		11.3gNO  1mol NO   3mol Cu  63.5gCu

		                 30.0gNO  2mol NO  1mol Cu









		Lets do another example:

		3Cu + 8HNO3  3Cu(NO3)2 + 2NO +4H2O

		If 11.3g NO is produced, how much Cu is required

		Step 1.  Balance the equation.

		Step 2.  Setup moles of given.

		11.3gNO  1mol NO

		                 30.0gNO

		Step 3.  Determine ratio of wanted substance to given from the balanced equation

		11.3gNO  1mol NO   3mol Cu

		                 30.0gNO  2mol NO

		Step 4.  Change needed substance to grams

		11.3gNO  1mol NO   3mol Cu  63.5gCu =  35.88gCu

		                 30.0gNO  2mol NO  1mol Cu









		2KClO3  2KCl  +  3O2









		2KClO3  2KCl  +  3O2

		8.20g KClO3 reacts, how much O2 made









		2KClO3  2KCl  +  3O2

		8.20g KClO3 reacts, how much O2made

		8.20gKClO3 1mol KClO3

		               122.5g KClO3                                          









		2KClO3  2KCl  +  3O2

		8.20g KClO3 reacts, how much O2 made

		8.20gKClO3 1mol KClO3      3mol O2

		               122.5g KClO3  2mol KClO3                                        









		2KClO3  2KCl  +  3O2

		8.20g KClO3 reacts, how much O2 made

		8.20gKClO3 1mol KClO3    3mol O2             32.0gO2

		               122.5g KClO3  2mol KClO3  1mol O2                                      









		2KClO3  2KCl  +  3O2

		8.20g KClO3 reacts, how much O2 made

		8.20gKClO3 1mol KClO3      3mol O2           32.0gO2  = 

		               122.5g KClO3  2mol KClO3 1mol O2                                      









		2KClO3  2KCl  +  3O2

		8.20g KClO3 reacts, how much O2 made

		8.20gKClO3 1mol KClO3      3mol O2                  32.0gO2  =

		               122.5g KClO3  2mol KClO3    1mol O2      



		3.21gO2                                









		P4  +  5O2    P4O10

		7.75gP4 reacts, how much P4O10 made



		









		P4  +  5O2    P4O10

		7.75gP4 reacts, how much P4O10 made



		7.75gP4  1mol P4

		               124.0gP4









		P4  +  5O2    P4O10

		7.75gP4 reacts, how much P4O10 made



		7.75gP4  1mol P4        1mol P4O10

		               124.0gP4     1mol P4

		









		P4  +  5O2    P4O10

		7.75gP4 reacts, how much P4O10 made



		7.75gP4  1mol P4        1mol P4O10  284.0gP4O10

		               124.0gP4     1mol P4          1mol P4O10

		









		P4  +  5O2    P4O10

		7.75gP4 reacts, how much P4O10 made



		7.75gP4  1mol P4        1mol P4O10  284.0gP4O10  = 17.75g

		              124.0gP4     1mol P4          1mol P4O10               P4O10

		









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much CO2 made









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much CO2 made



		109gC5H12 1molC5H12

		                   72.0gC5H12









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much CO2 made



		109gC5H12 1molC5H12   5molCO2

		                   72.0gC5H12  1molC5H12









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much CO2 made



		109gC5H12 1molC5H12   5molCO2      44.0gCO2

		                     72gC5H12  1molC5H12  1molCO2









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much CO2 made



		109gC5H12 1molC5H12   5molCO2      44.0gCO2 = 333.0g

		                   72.0gC5H12  1molC5H12  1molCO2             CO2









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much H2O made









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much H2O made



		109gC5H12 1molC5H12

		                   72.0gC5H12









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much H2O made



		109gC5H12 1molC5H12    6molH2O

		                   72.0gC5H12  1molC5H12









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much H2O made



		109gC5H12 1molC5H12    6molH2O   18.0gH2O

		                   72.0gC5H12  1molC5H12   1molH2O









		C5H12 + 8O2  5CO2 + 6H2O

		109g C5H12 reacts, how much H2O made



		109gC5H12 1molC5H12    6molH2O   18.0gH2O  = 163.5g

		                   72.0gC5H12  1molC5H12   1molH2O         H2O









		C4H10 burns in Oxygen









		C4H10 burns in Oxygen

		Type of reaction?









		C4H10 burns in Oxygen

		Type of reaction?

		Products?

		CO2  and H2O









		C4H10 burns in Oxygen

		Type of reaction?

		Products?

		CO2  and H2O

		So reaction is:









		C4H10  +  O2   CO2  + H2O









		C4H10  +  O2   CO2  + H2O

		4.42kgC4H10 reacts, how much CO2 made









		C4H10  +  O2   CO2  + H2O

		4.42kgC4H10 reacts, how much CO2 made

		2C4H10  +  13O2   8CO2  + 10H2O









		C4H10  +  O2   CO2  + H2O

		4.42kgC4H10 reacts, how much CO2 made

		2C4H10  +  13O2   8CO2  + 10H2O



		4420gC4H10  1molC4H10

		                58.0gC4H10









		C4H10  +  O2   CO2  + H2O

		4.42kgC4H10 reacts, how much CO2 made

		2C4H10  +  13O2   8CO2  + 10H2O



		4420gC4H10  1molC4H10     8molCO2

		                58.0gC4H10   2molC4H10









		C4H10  +  O2   CO2  + H2O

		4.42kgC4H10 reacts, how much CO2 made

		2C4H10  +  13O2   8CO2  + 10H2O



		4420gC4H10  1molC4H10     8molCO2      44.0gCO2 = 13412g

		                58.0gC4H10   2molC4H10   1molCO2          CO2









		Barium chloride mixed with sodium phosphate, ppt. Barium phosphate.     62.9g Barium chloride, how much Barium phosphate









		Barium chloride mixed with sodium phosphate, ppt.Barium phosphate.  62.9g Barium chloride, how much barium phosphate

		BaCl2  +  Na3PO4   Ba3(PO4)2 + NaCl









		Barium chloride mixed with sodium phosphate, ppt.Barium phosphate.  62.9g Barium chloride, how much barium phosphate

		3BaCl2  +  2Na3PO4   Ba3(PO4)2 + 6NaCl









		Barium chloride mixed with sodium phosphate, ppt.Barium phosphate.  62.9g Barium chloride, how much barium phosphate

		3BaCl2  +  2Na3PO4   Ba3(PO4)2 + 6NaCl



		62.9gBaCl2 1mol BaCl2

		                    209.3g BaCl2









		Barium chloride mixed with sodium phosphate, ppt.Barium phosphate.  62.9g Barium chloride, how much barium phosphate

		3BaCl2  +  2Na3PO4   Ba3(PO4)2 + 6NaCl



		62.9gBaCl2 1mol BaCl2       1molBa3(PO4)2

		                    209.3g BaCl2  3molBaCl2









		Barium chloride mixed with sodium phosphate, ppt.Barium phosphate.  62.9g Barium chloride, how much barium phosphate

		3BaCl2  +  2Na3PO4   Ba3(PO4)2 + 6NaCl



		62.9gBaCl2 1mol BaCl2       1molBa3(PO4)2  601.9gBa3(PO4)2

		                    209.3g BaCl2  3molBaCl2            1molBa3(PO4)2









		Barium chloride mixed with sodium phosphate, ppt.Barium phosphate.  62.9g Barium chloride, how much barium phosphate

		3BaCl2  +  2Na3PO4   Ba3(PO4)2 + 6NaCl



		62.9gBaCl2 1mol BaCl2       1molBa3(PO4)2  601.9gBa3(PO4)2

		                    209.3g BaCl2  3molBaCl2            1molBa3(PO4)2



		= 60.58gBa3(PO4)2









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross

		Mg  + N2    Mg3N2









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross

		3Mg  + N2    Mg3N2









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross

		3Mg  + N2    Mg3N2



		1.19gMg3N2  1mol Mg3N2

		                     100.9gMg3N2









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross

		3Mg  + N2    Mg3N2



		1.19gMg3N2  1mol Mg3N2    3molMg 

		                     100.9gMg3N2   1mol Mg3N2









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross

		3Mg  + N2    Mg3N2



		1.19gMg3N2  1mol Mg3N2    3molMg          24.3gMg

		                     100.9gMg3N2   1mol Mg3N2     1mol Mg









		Magnesium in pure nitrogen produces magnesium nitride.  Mass of Mg to produce 1.19g magnesium nitride

		Find formulas of compounds

		Do a cross

		3Mg  + N2    Mg3N2



		1.19gMg3N2  1mol Mg3N2    3molMg          24.3gMg

		                     100.9gMg3N2   1mol Mg3N2     1mol Mg



		= 0.859gMg





















		So lets go back to our original problem we started with

		Can we find out the amount of Es2O we need to order and react

		We can now

		But lets look at the problem closer

		Remember that the cost is mostly in Es2O and not the HCl

		But we still need to use HCl

		How much do we need to use?

		And do we really want to use just enough if we want to make sure all of the ES2O reacts











		This brings us to something referred to as

		LIMITING REAGENTS

		A Limiting Reagent is simply the substance that there is just enough of to react, while the other reactant is IN EXCESS

		That means there is much more than needed to react completely with the other reactant(s)

		In our case the HCl would be the in excess reactant

		Because it is the one we want to put in more than we need and the Es2O would be the Limiting, because we want to put in just enough and no more









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4

		If 22.7gNaOH are reacted with 38.3g Al2(SO4)3 , how much Na2SO4 is produced









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4

		If 22.7gNaOH are reacted with 38.3g Al2(SO4)3 , how much Na2SO4 is produced

		So how do we determine this









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4

		If 22.7gNaOH are reacted with 38.3g Al2(SO4)3 , how much Na2SO4 is produced

		So how do we determine this

		Remember that we have two given amounts of reactants

		









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4

		If 22.7gNaOH are reacted with 38.3g Al2(SO4)3 , how much Na2SO4 is produced

		So how do we determine this

		Remember that we have two given amounts of reactants

		And we do not know if there is enough of the one to totally react with the other









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4

		If 22.7gNaOH are reacted with 38.3g Al2(SO4)3 , how much Na2SO4 is produced

		So we first need to find out how much of each we really have in MOLES









		So lets look at an example of how this works:

		In the reaction:

		Al2(SO4)3 + 6NaOH   2Al(OH)3 + 3Na2SO4

		If 22.7gNaOH are reacted with 38.3g Al2(SO4)3 , how much Na2SO4 is produced

		So we first need to find out how much of each we really have in MOLES

		22.7gNaOH  1mol NaOH            =  0.568mol NaOH

		                      40.0g NaOH

		38.3g Al2(SO4)3  1mol Al2(SO4)3    =  0.112mol Al2(SO4)3

		                                        342.3g Al2(SO4)3









		At first glance one notices that there is more NaOH than Al2(SO4)3

		But wait!!!!!

		The balanced equation (our recipe) shows that 6mols of NaOH are required to every 1 mol of Al2(SO4)3

		Or a 6:1 ratio

		So if we multiply the amount of Al2(SO4)3 by 6 we determine the amount of NaOH needed to react with all of it

		0.112(6) = 0.672mol NaOH required

		But we only have 0.568mol NaOH: so it is in LIMITED supply , which makes it the Limiting Reactant

		Therefore the amount of Na2SO4 that can be produced is limited by the amount of NaOH we have











		So:



		22.7gNaOH  1mol NaOH

		                      40.0g NaOH









		So:



		22.7gNaOH  1mol NaOH    3molNa2SO4          

		                      40.0g NaOH  6mol NaOH









		So:



		22.7gNaOH  1mol NaOH    3molNa2SO4    142.1gNa2SO4       =

		                      40.0g NaOH  6mol NaOH     1mol Na2SO4



		                                                                                40.32gNa2SO4





















		So up to now all the problems have assumed that all the important reactant(s) will react with each other and produce product(s) without any reactants left over

		Think of it this way…. If you make a paper snowflake do you use all the paper

		Nope…some gets unused….excess

		Truth of the matter is that no reaction ever goes to completion

		The amount you do get from a reaction is called the THEORITICAL YIELD

		That is…not all the reactants react, even in excess, and not all the product you expect to get is obtained









		SO IF WE GO BACK TO OUR ORIGIONAL PROBLEM WE STARTED THIS ALL OFF WITH…DO WE SEE A SMALL TECHNICALLITY

		I do believe we do











		What you also need to know to price and order your materials is something called the % yield

		Most companies know exactly what this yield is and how they need to order materials to obtain what they need to sell

		This is how its done

		A small reaction of the required material is performed

		The amount of product actually obtained is compared to the amount that was theoretically calculated

		%yield  = experimental yield  x 100



 theoretical yield 







		So lets do a problem:

		4.00gCuCl2 is reacted with excess Fe and 1.75gCu is recovered.  What is the % yield of the reaction?









		So lets do a problem:

		4.00gCuCl2 is reacted with excess Fe and 1.75gCu is recovered.  What is the % yield of the reaction?

		CuCl2  + Fe   Cu + FeCl2









		So lets do a problem:

		4.00gCuCl2 is reacted with excess Fe and 1.75gCu is recovered.  What is the % yield of the reaction?

		CuCl2  + Fe   Cu + FeCl2

		4.00g CuCl2  1mol CuCl2

		                     134.5g CuCl2









		So lets do a problem:

		4.00gCuCl2 is reacted with excess Fe and 1.75gCu is recovered.  What is the % yield of the reaction?

		CuCl2  + Fe   Cu + FeCl2

		4.00g CuCl2  1mol CuCl2       1mol Cu

		                     134.5g CuCl2  1mol CuCl2 









		So lets do a problem:

		4.00gCuCl2 is reacted with excess Fe and 1.75gCu is recovered.  What is the % yield of the reaction?

		CuCl2  + Fe   Cu + FeCl2

		4.00g CuCl2  1mol CuCl2       1mol Cu         63.5gCu  =

		                     134.5g CuCl2  1mol CuCl2      1mol Cu









		So lets do a problem:

		4.00gCuCl2 is reacted with excess Fe and 1.75gCu is recovered.  What is the % yield of the reaction?

		CuCl2  + Fe   Cu + FeCl2

		4.00g CuCl2  1mol CuCl2       1mol Cu         63.5gCu  =

		                     134.5g CuCl2  1mol CuCl2      1mol Cu



		                                                                          1.89gCu



		%yield = 1.75 x 100  = 93%



    1.89

		





















Practice problems

‘Solve each of the following problems. In the space below each problem, show a labeled setup.
Do any necessary arithmetic on scrap paper. Write your answer in the space at the right.

1. Inthereaction
2KCIO,; — 2KCI + 30,

8.20 g KCIO, reacts. Calculate the following:
a. the mass of KCl produced

Fe2e KPO3 [)annt 103 Yanot el | 708 o KU
: [12.Sgweedo, [;mz 4<a03’[;Mw.

b. the mass of O, produced

astd/‘o;l;Mé KOy [Joeli0y | 32 4,
[m‘rskcco} hm,,q \<wi\ |,,;,7;0L

2. In "hereaction
Pn + 501 S PlOlO
7.75 g P, reacts. Calculate the following:
a. the mass of P,O,, p{oduced

2986 04|tk £ f1note by O,n( 264 g 040,0
b. the mass of O, that reacts

795 €4 | jmol Py | Sws0 | 3200
i 13 -J[——fy—l--
l"ﬁ 0 llwﬂ 4 | Jaut 0

le

3. Inthereaction
Csle + 801 - 5CO: +6H10
109 g CsH,, reacts. Calculate the following:
a. the mass of O, that reacts

1 Cgl{zhmc Gu %m0, | p, 0
'
|72. chu‘,' Jonsl tcH \ brwsl O,
b. the mass of CO, produced
109 ¢ Cothie | ool il | S COL | UYte Coo
'7Z§ Cotn | lmadi €l [t o, T

c. the mass of H,O produced

199 CcHya | mokOgtéin Gk tho | T Z¥es 3
1 20) (‘;u)" l /M)[C;'/;L‘ | W\"Q Nz o

BT

l. a. ‘/95%

2. a._m_

b. IO~03
3. a. 3?7:§n‘
b, 333 ¢

D
. L2-S¢
5|




Name y/ Date
4. Inthereaction

AJI(SO‘)J 4 6NaOH id 2Al(OH)3 + 3N31504
22.7 g NaOH reacts. Calculate the following:

a. the mass of Al;(SO.); that reacts 4. a
22, Y Yt T 1l W 7’M Sy 5 | 212y M ZSML
b3 / Wp-datt [ ,/fﬁ)w‘/ | ko 4, $94 7
b. the mass of 1(OH) produced M8, M(mr/
1,\,7&/0 lm/;ff i A bw) H——
Sl %ﬁ—ww "\A“"Uw /r“ %‘)Tﬁ

Y2y 4, S0
ob,Mujer&ﬁAJUqlSd‘,/M‘L /m)§u¢ o

»)’//)vd'” /Z‘v" ‘/M /jn P /45/’}'
3Cu + 8HNO; — 3Cu(NO;), + 2NO + 4H,0
11.3g NO is produced. Calculate the following:

c. the mass of Na,SO, produce
psdld 9

5. In thereaction

a. the mass of Cu that reacts R 5.a. _35,686¢
N3, WO |(mok VO 3,“,&(1%[ 3.8 :gs’ 7
303 PO 2wk O Cu
b. the mass of HNO, that reacts b, 58457
13600 | ol Wo[Smok W00 [ 3 5 Hw04
fb’( vo {er’{' wo / ) o ot /4)1)()3
c. the mass ofCu({NO,), produced c. /08 3¢
113,09 Lol V0|2 n o, &( /r7> ﬂ /Nz,
bo WO | am /mJ A mn)
J
d. the mass of H,O produced d. /35Cq
il. 3900/:/\,.,L MO/‘//M'(!/I_?O/ 159 t, O J

/%A/D /JM/JO//MJ’@U

For 6-10, write your own balanced equation as the first step in solving the problem.

6. When butane,C.H,o, burns in oxygen, the products are carbon dioxide
and water. What mass of carbon dioxide will be produced when 4.42 kg )
of butane is burned in excess oxygen? 6%_

0704”/0 —+/307‘ >. 8¢ 04 f—/CHZ )
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Stoichiometry Practice Problems

1. 720g HF will decompose into how many grams of Fluorine gas?

2. 14.2g BaCl, when reacted with excess H,SO4 will produce how many moles
BaS0,? How many grams BaSO,?

3. 70.6G HCI when reacted with Mg will produce how grams MgCl,?

‘;"4‘_ ) 312g Sr(OH), when reacted with excess HNO; will produce how many grams of
s ST(N03)2?

Al
{ 5.,)When nitrogen gas and hydrogen gas are exposed to high temperature and pressure,

“they form ammonia. What volume of nitrogen gas must be used to obtain 1.37x106dm3
of ammonia?




STOICHIOMETRY PRACTICE PROBLEMS

1. 720 g of HF will decompose into how many moles of F2 ?
2HF = H, +F,

/o -
t“z/d, 7‘909 H/"//mu(’ ) //w»jl /25(); Fo _ _ )&t 75
D, Al 1= - )
200 [ 20.06 f1= ] //MJFL bity P
2. 14.2 g of BaClz when reacted with excess H2SO4 will produce how many
moles of BaSO4 ? How many grams of BaSO4 is this ?
)28 BaCl2 + H2S04 e=pP BaSO4 + ZHCI
, .
r”.D
7,0/"‘% 142 G Cl, //;':ﬁ Bully [lank (B39 )9338e Ba S% 0. 06t mele
/)0&3\5 o ”L[/M i Mz / S onil Bu Yy - /0/5/5 & 5"7/
31;"13 ) /
1% g
Pt
> 3. 70.6 g of HCI when reacted with Mg metal will produce how many g of
M+ 2L > M + Mo
243 o
7’)')’ ‘__s___g /mw‘!#d ///mr(ﬂqu/ [_7(3 M9 - ?Z W U
g8 [36.5g #eL [ 2t WL s 4
4. 312 g of Sr(OH)2 when reacted with excess HNOg3 will produce how many
g of Sr(NOg)2 ?
Slow) r 2400 =2 S-(w4), * 2H0
b
%/} 0#) £
2 3\{;1 f:,w / y.m@WQJ /m/‘(gf({{%\)l 2/, 69 é_,_(iog)
o tet g S04 [ )t S, [ 1ot s 0 T =
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CHEMISTRY PROBLEMS
STOICHIOMETRY

‘1
/@. 184 grams of Lead are

reacted with axcess F3 to produce PbFs. How many grams
of product is produced?

r
)

,/ Propanol burns with O3 to form H20 and CO2. How many grams of Propanol
3H70H can be burned by 120 grams of 02 ?

A

i
;

\3. /15.59 of NaC! are reacted with 46.7g of AgNOg3. Which reactant Is in excess? How

much.AgCli is formed? How much of the excess reactant is left over?

4. 119.63g of Hg are reacted with excess KCI, then K(s) and 9.70g of HgClpare
obtained. What is the thaeoretical yield in grams and the percent yield of this reaction?




CHEMISTRY PROBLEMS K Ci \/
STOICHIOMETRY

1. 184 grams of Lead are reacted with excess F» to produce PbF2. How many grams
of product is produced? PL+ i, > 26 /'

b 7.2
- l; 3.0 /G2
LGP | \k P |t R\ pvsag 0Py e 2
[ 207, Zfl/Hp/ [ 1met Bl [ u&% J
2. Propanol burns with O3 to form H2O and CO2. How many grams of Propanol
C3H7OH can be burned by 120 grams of O3 ?
2G04+ 50, 5 6C0 ¢ #4, 0
(~12%3= 24.0
Pl 190,09 05 | 1mAHs IPM(””’*/‘”?M"”’ = 48,95, H, Ok
G- looxt = 16:9 = / / Z. //,,..,f 4y 0N $? 1z
60'%/ ) 310 & 9/
pnir

3. 15.5g of NaCl are reacted with 46.7g of AgNOgz. Which reactant is in excess? How -
much AgCl is forrged';,How much of the exce 7s reactant is left over? 4/ ¢ 4, 49 AL e el

5 s ol dte OF //4,,6/738/ (p0ds HE o or
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/07,5 0. 87554
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1234 L14. jﬁ;ﬂ //m«f,éw‘g /,,,1,47&0
b ,o/m,f,‘;.,yo [ /65,59 Apbls
&) 4. 1f 9.63g of Hg are reacted with excess KCI. then Ks) and 9.70g of HgClo are i m""
¢ obtained. What is the theoretical yield in grams and the percent yield of this reaction? /16 2
Iﬁo /./5-t:)l<c¢’ > K ¢+ We L6, > ;
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